N & 0l & AF & & A A
SN 2SALBRIAY L
Y MBS |4
ool sAsSHST gl (eol:@e)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
SStAE R AY A 2,029,909 1,340,204 689,705
HEHS S4 471,077 415,355 55,722
s2sHSs2 292 471,077 415,355 55,722
2y 2N 29 127,475 135,039 N7 ,564
201 2Bt | 80,400 83,659 13,259
01 AR 22/t 80,400 83,659 £3,259
o MaBSE B2 XH(4%)  -3,250,0008 ~3,259 0 ~3,259
202 04l 9,642 9,940 £298
01 2ol 9,642 9,940 £298
o MaBBE B2 (3 -298,0002! 1298 0 £ 298
405 Xt 3 S| 26,993 31,000 £ 4,007
01 L2 ZH S| 26,993 31,000 £ 4,007
o MaESs B2 XF(13%)  -4,007,0008 £4,007 0 £4,007
s2sHSs2 SN2 343,602 280,316 63.286
201 2Bt | 109,330 110,797 A 1,467
01 AR 22/t 26,210 27.677 A1,467
o MaESS B2 XH(5%)  -1,467,0008 A 1,467 0 A1,467
202 01| 4,133 4,380 £ 247
01 2o bl 4,133 4,380 £ 247
o MaEBE B2 X (6% ~247,0002! ~247 0 £ 247
401 Al & HI L 2 OHHI 203,300 138,300 65.000
01 Al&HI 203,300 138,300 65.000
o ZLSHSY =322 LA
65.000,000% = 1CH 65,000 0 65.000
S5 BE 271,389 281,077 £9,688
Sszse 29 2ol 271,389 281,077 £9,688
2ss 29 2 B Iy 218,789 228,477 £9,688
201 Yete A | 198,609 208,297 £9,688
01 AR 22/t 4,905 6.317 A1,412
o MaEBE B EH(2%)  -1,412,0008 A1,412 0 AT,412
03 #AHE 2t 184,004 192,280 18,276
o MaESS B2 XF(4%)  -8,276,0008 18,276 0 £8.,276
TZEND HE 2 29 987,947 341,570 646,377
otEiniGie A 2y - el 486,008 279,170 206,838
CANTY % 2 148,133 139,544 8,589
201 LBt H | 16,047 13,244 2,803
01 AR 22/t 15,187 12,384 2,803
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SEALBRIAY L
ZTZCHT 25 2 2Y
oGtHoIsteA 29 - el

SN - SAGEA) - MRAY - BES 0] &k o4 0| % o Hl D&
© OIILCIDIGHS A AFQL HIE
100,000& * 350H 3,500 0 3,500
o Hldtesst 22 =F(6%) —-697,000& N697 0 AN 697
202 4l 4,529 4,800 2271
01 = LH 4 HI 4,529 4,800 2271
o Odtesst 22 =X (6%) -271,000& AN2T1 0 A271
207 O & H] 6,436 7,000 A 564
01 2284 6,436 7,000 A 564
o Hldtsss 22 =F(8%) -564,000& A564 0 A 564
405 TtobFH S 113,621 107,000 6,621
01 AL ESH SHI 23,048 11,000 12,048
o F2atua HHEI| £ 2,500,000 * 15 2,500 0 2,500
o SNSEZESI F 10,000,000& = 1= 10,000 0 10,000
o Hldtesst 22 =& (4%) -452,000& A452 0 N 452
02 =AM 90,573 96,000 A5, 427
o Hlatesst 22 =X (6%) -5,427,000& A5,427 0 A5, 427
datzel & OXNENZYE 29 258,534 89,126 169,408
201 24l 11,643 11,846 A 203
01 AFR2t2lHl 8,917 9,120 A 203
o Hatsss 22 =F(2%) -203,000& A 203 0 A 203
207 A RO 138,567 47,260 91,307
02 & &HH 2 138,567 47,260 91,307
o HMAMHAIAE WX 32,000,000& * 30K 96,000 0 96,000
o Hlatgsst 22 =X (10%) -4,693,000& A 4,693 0 A 4,693
401 Al HIZ 201 8] 80,000 0 80,000
01 A& HI 80,000 0 80,000
o LXNEXNE4A AlEHd (g2 &Xl)
50,000,000 = 14l 50,000 0 50,000
o LXEXZA AIEHEONSA AIE2A)
30,000,000& = 14l 30,000 0 30,000
405 TtobH SHI 28,324 30,020 A 1,696
01 AL EZFH S 28,324 30,020 A 1,696
o Hldtesst 22 =F(6%) -1,696,000& A 1,696 0 A 1,696
U 19,341 20,500 A1,159
201 LEt2 A | 19,341 20,500 21,159
01 At 2teltl 19,341 20,500 A1,159
o Oldtesst 22 =& (6%) -1,159,000& A1,159 0 A1,159
OrJtOI0lol R A R X2l 60,000 30,000 30,000
401 AIEHI L 20HEI 60,000 30,000 30,000

- 296 -




2N

SotAIE 2 At

re

Y BRSHB 25 L 2Y
Sl OtEIDIG RA 2y - el CERED
2N -3 -2 (SH) - NHEMY - BES Off &F o4 I E M Hwsz
01 Al& I 60,000 30,000 30,000
o OPHHOIGHR A ZEa AfEZ N
30,000,000% + 13l 30,000 0 30,000
SHEHE 29 2el 123,039 62,400 60,639
SH Y 2ETY 29 2l 65,409 62,400 3,009
201 L2yl 5,004 0 5,004
01 AbR et 5,004 0 5,004
< geragy > 0 0 0
o BHZY A2 7Y 200,008 * 155 3,000 0 3,000
o NE2Y HAEBE 2 200,008 * 55 1,000 0 1,000
o HeasE 25,0008 * 10Z * 23l 500 0 500
<3l > 0 0 0
o HHTHB FRe =7
7,0008 * 28 * 362 504 0 504
202 04t 1,200 0 1,200
01 20 bl 1,200 0 1,200
o HHTHB 2=
20,0008 * 2 * 302 1,200 0 1,200
207 &1 IH 2 bl 4,246 4,500 A 254
01 RSy 4,246 4,500 A 254
o fldtasst 22 =F(6%) -254,000& A 254 0 A 254
405 X+t S| 49,059 52,000 ~2,941
02 SA P 49,059 52,000 £2,941
o MaEEs B2 XH(6%) 2,941,008 A2,941 0 A2,941
HUAAY RE L 2y 57,630 0 57,630
207 &1 RN 2 bl 57,630 0 57,630
02 & &H 2t 57,630 0 57,630
o ARUEYD AZAIK(L3)
5,280,008 * 1% 5,280 0 5,280
o 2SS AFH (VPN) 3,000,0008 * 2% 6,000 0 6,000
o BUFI XTAAY (L)
35,000,0002 * 1% 35,000 0 35,000
o 5l=2eiY AIX(L2)  3.700,0008 * 35 11,100 0 11,100
o PCRIE ARIXI(52) 50,0008 * 5% 250 0 250
SEcH2 29 22 378,900 0 378,900
SECNY TH L 2E2Y 29 el 311,270 0 311,270
201 YBr2 Y| 27,500 0 27,500
01 At 22t 17,500 0 17,500
< ysragy > 0 0 0
o THATU AR R
10,000,008 * 14 10,000 0 10,000
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SHAl &
=L
2o

A

e

EEIPIE-PE
a5 2 2y
229 a2

2A-F3H-H2A(3) - MY - BES O] Ak I & Hns2Z
o YA TAH22 S/MWPLY
7,500,0008 * 1& 7,500 0 7,500
02 23294l 10,000 0 10,000
<223 LHA > 0 0 0
o TAZ SN (HIEY, TA2AY)
5,000,0008 = 23| & 10,000 0 10,000
206 T 24l 5,900 0 5,900
01 24l 5,900 0 5,900
© RFID E4O 8802  5,0000H 4,400 0 4,400
o TAFCEE 300,0002 * 5& 1,500 0 1,500
207 & If 2y 4,500 0 4,500
01 ARy 4,500 4,500
o T A MARCEE 22H| 900® * 5,000 4,500 0 4,500
405 XtoHE SH 273,370 0 273,370
01 JHatY 2 5 SH 221,370 0 221,370
<RFID AIARIAE X > 0 0 0
© RAFID SASAUX AAH 25
20,000,0008 * 24 40,000 0 40,000
o RFID ItSHE Dl 25,000,000 * 1CH 25,000 0 25,000
o ANE EEEII(AAE)
4,000,0008 « 2CH 8,000 0 8,000
o HMEAD 4,500,0002 * 1CH 4,500 0 4,500
< ARII1Z > 0 0 0
o X2 NITY 1,001,0008 * 50% 50,050 0 50,050
o StHHIAZ, OIX ZMY =
587,500 * 8% 4,700 0 4,700
o EEY 900,0002 * 3CH 2,700 0 2,700
o N2A LM L AR 550,000 * 50% 27,500 0 27,500
° 398, ARSHA Y X
410,000 * 20% 8,200 0 8,200
o JIEt HHIE(BHAAT, A28, MLE S)
847,000 * 10% 8,470 0 8,470
o HAD 250,0009 * 2CH 500 0 500
o AFSATY 1,000,0008! = 1CH 1,000 0 1,000
o EEARIIN(BEH,TRE , EMI| S)
1,000,0008 = 20CH 20,000 0 20,000
o QIR Z2A]| 233D
3,000,0008! = 1CH 3,000 0 3,000
o QY2 TYUESEH N3
2,750,000 = 1CH 2,750 0 2,750
o gy U A2 CCTVA X
15,000,000 * 1JH A 15,000 0 15,000
02 TN 52,000 0 52,000
o YUBtE A Y 13,0000 = 4,000 52,000 0 52,000
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el

RERN
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02
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&t
N2t 2

SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
SREEN2 HAAAE 2E Y A2 67,630 0 67,630
207 A O H] 67,630 0 67,630
02 & &HIH I 67,630 0 67,630
o EREEZ M2 EHOX 25
10,000,000 = 1JH A 10,000 0 10,000
o WESHZ HBALIXI(LI)
5,280,000& » 1& 5,280 0 5,280
o &S S EH|I(VPN) 3,000,000 * 23 6,000 0 6,000
o EBYHIIXE AlAE (YY)
35,000,000& * 138 35,000 0 35,000
o oBAHZ ARIXI(L2) 3,700,000& * 38 11,100 0 11,100
o PCHZE ALIX(5E) 50,000& * 5& 250 0 250
HY AL (SIAEZH2IAIE A) 299,496 302,202 A2,706
JlEZ3l 259,881 262,587 N2,706
JlE&l 259,881 262,587 N2,706
201 ¢et24] 253,321 256,027 A2,706
01 AFR2t2l bl 48,801 51,507 A2,706
o Hatsss B2 =F(5%) -2,706,000& N2,706 0 A2,706
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